4% (2010) . SAMURAI(2011~2013) . Samurai Denkees (2014~)
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K& (F—L4A) BEBFH | BERY | BEBE | BE=R
1 % (J§) (Samurai) 20 80 200 168
2 E W (%0) (Samurai) 14 52 212 194
3 K (Samurai) 7 19 269 173
4 578 (Samurai) 2 1 667 13
5 244X (Samurai) 2 7 222 39
6 1& (]) (Samurai) 1 0 1.000 14
7 {E%F (Samurai) 1 0 1.000 10
8 TE4 (Samurai) 1 0 1.000 5
9 (LI ($30) (Samurai) 1 0 1.000 5
10 BE_E (Samurai) 1 0 1.000 2
1 = H (Samurai) 1 1 500 9
12 ¥+2% (Samurai) 1 1 500 8
13 #x & (Samurai) 1 4 200 6
14 &K (B) (YR -samurai) 1 15 063 40
15 FH (Samurai) 0 0 - 11
16 [E & (Samurai) 0 0 - 4
17 PR _E (Samurai) 0 0 - 3
18 2 (%8) (Samurai) 0 0 - 3
19 LA (i) (Samurai) 0 0 - 3
20 i B (Samurai) 0 0 - 2
21 #0 (Samurai) 0 0 - 2
22 AT (Samurai) 0 0 - 1
23 ;&)1 (Samurai) 0 0 - 1
24 % # (Samurai) 0 0 - 1
25 I & (Samurai) 0 0 - 1
26 {£ /2 (Samurai) 0 0 - 0
27 F IR (Samurai) 0 0 - 0
28 %A (Samurai) 0 0 - 0
29 & (&) (Samurai) 0 0 - 0
30 %R (1#) (Respe—Samu) 0 0 - 0
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K& (F—L4A) BEBFH | BERY | BEBE | BE=R
31 7% 4 (Samurai) 0 0 - 0
32 18 2 (Samurai) 0 1 .000 5
33 JC# (Samurai) 0 1 .000 5
34 H 2 (Samurai) 0 1 .000 4
35 1L (Samurai) 0 1 .000 4
36 B2 (Samurai) 0 1 .000 3
37 {£ )1l (Samurai) 0 1 .000 3
38 %%t (Samurai) 0 1 .000 2
39 K% (Samurai) 0 1 .000 2
40 K P (Samurai) 0 1 .000 2
41 #FxH (Samurai) 0 1 .000 2
42 Z (Samurai) 0 1 .000 1
43 L€ (Samurai) 0 1 .000 0
44 EF (J'1)—2-EvY -Samurai) 0 1 .000 0
45 #8)11 (Samurai) 0 1 .000 0
46 = H (Samurai) 0 1 .000 0
47 H (GZ) (Samurai) 0 2 .000 10
48 4 (Samurai) 0 2 .000 10
49 R (Samurai) 0 2 .000 10
50 &= (Samurai) 0 3 .000 32
51 X H (Samurai) 0 3 .000 13
52 (LI (35) (Samurai) 0 3 .000 4




